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ICT — A/L 2018 (G.13) — June —2018 FWC Examination — Marking Scheme
Part—1

Part—1II A
Question Marks
No.
1) (a) Allows online shopping customers to accumulate a list of items for purchase.
Software calculates a total for the order (tax, shipping charge, packing charge ,etc.) 4 marks
Oarereuaney OGewicugparar Gumpl smen aurgsmswrery ey CFrlLsn@ [2x2]
SIILDS)S ST B1.
slLeenuil il Qur@pl senssrar Cwrss Csramaullomard &eamilddlang).
(1) () | JKLCEMKPI
2 marks
1) (¢ I/O requests - I/O Gouamihengsa.
Arithmetic errors - sramigamils auwESeT. 4 marks
(2x2)

Hardware malfunction — euarQ@ummeir Lily&dlenenseir.

Invalid instructions— euedlspm dleymidHedse6ir.

2) (a) (i) Wrong — body {background-color:red;}

(ii) Right i m;rks [
(iii) Wrong — div {font-family:”comic sans ms”; X3l
(2 (b) (i) 2NF
4 marks

. . [1+1+2]
Table has two partial dependencies.
i Loument Bgenih u@GSlurear srSulBssosmend OaraBerena
StudentID = StudentName and SubjectID = SubjectName ?IT;':;(]S

(ii) Student (StudentID, StudentName) Subject (SubjectID, SubjectName)
Result (StudentID, SubjectID, Grade)

. J
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3@
Removing certain processes temporarily from memory to reduce the system load | 4 marks
during a peak loading situation / freeing memory.
2 & aow BlmawamwullaGurg wapewwilear gewuilmerd
GDDSGSWELTHLG BloarussSledBha SHaTsW0TS GBI L
QeweipampEmen bEGSD owa Blaaiussdlmear allHailsse.
(3) (b)
The process of selecting among the processes in memory that are ready to execute | 3 marks
and allocates the CPU to one of them is called as CPU Scheduling.
plenateussgled BleavpGoupmiensd@ swryrseysten CFweipampsailedmhbgs
ool L Qewaipapuilmer CPU @@ @ais@se CPU
I L UGLILIBSSH6) 6Tl DeLPSSLILIHLD.
3 (©
The file sample.html with the height=200, width=300 is displayed within current 3 marks
webpage.
Gamiy sample.html gyeangy (height=200, width=300) snCurgieren
UmLILIGSSSlaiar ST FALLBSSILGERTDS).
4 (@)
CREATE TABLE Order ( 5 marks
OrderID varchar(7) NOT NULL,
OrderNumber varchar(7) NOT NULL,
PersonlD varchar(6),
PRIMARY KEY (OrderID),
FOREIGN KEY (PersonID) REFERENCES Person(PersonlD)
)
4) (b)
12 4 8 16 32 64 128 256 512 2 marks
(ii)
s=1
n=1 3 marks
while n<=10:
print(s)
s=s+2
n=n+1
\-
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Part-II B
Question
No.
M @
H R F S 5 marks
0 0 0 0
0 0 1 0 [all the
0 1 0 0 Boolean
values must
(1) (1) (l) (1] be defined]
1 0 1 0
1 1 0 1
1 1 1 1
o H represents the On/Off switch of the heating system.
— H =1 when the heating system is switched on.
e R represents the room thermostat/temperature.
— R =1 when the room temperature is lower than required.
o F represents the frost thermostat/external temperature.
— F =1 when the external temperature is near freezing.
o S represents the On/Off switch of the boiler.
— S =1 when heat should be generated by the boiler.
(1) (b) 3 marks
HRF + HRF + HRF
(1)(¢)
HRF + HRF + HRF 4 marks
HRF + HR(F + F) [Absorption / Distributive Law]
HRF + HR. 1 [Identity Law]
HRF + HR
R(HF + H)
R(F + H) [HF + H= F + H]
(1)(b)(iv)
H 3 marks
F
R(F + H)
R
\-
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(2)
1 15 marks
Member detail
Deal with > Ml Member [External
. . entity — 1,
Application application data stores
—4,
. processes —
2 Loan detail M2 Loan 4, data
Loan /" flows -6]
Student — | Loanbook
Loan detail
3 M3 Fine
Fine process %v
M4 Reservation
R i Reservation
eservation 4 detail
Reserve
book
3 @ B2C — Business to Consumer aflwrmungsgledmhbg maiCouranidss@
DailyWay sells products to their customers via their website. ‘[‘ZmZa]rks
+
3) (b) C2B — Consumer to Business majGouraflalpihg allwrurysdng
Consumer orders for products to DailyWay via website. ‘[‘ZmZa]rks
+
3) (¢) Security / Confidentiality / Authenticity
uTgIsTLIL | BousSSaenw /| emmLwramgdlaea 2 miiLBss e 1 marks
3) @) Alerting for stock shortage @mpLiys Gmpailmer assfléma CFuiged
Alerting for re-order level a1 s Laeruiled plmouwllomer agsflsamas Gguiged 6 marks
. [3x2]
Informing date /amount to be ordered for goods
sl Leeruil Couemnqus GummL sendatar yerey / Slaglullmer slailssed
4) (a) 1GL - ipgomd gemepamps saflallGwor 4 marks
v" Also called machine language - QuipglyGomyl erameyb Senp&aLILIBS RTINS [2+2
v" Programs are written in binary / machine code (1, 0) - Qewiglyevsar gials /
Buipdlrs @dlapapulled awsLiL@Eamear (1,0)
v" Execution of programs is very fast - Geuwiglyevseilar BlanGounmiens llsayb
GoussLomeana,
v" No program translation needed - Qeuiglyed Qumylormmd Seudlwiblsdenev
v’ Difficult to write / test programs comparing with 3GL/4GL - 3GL/4GL
Surepeupmier @UIEWOLTE CFuiplyeosmen eaipgised | Camsamen
Qeuiged sQqeaIoTEIg)
v" Tied up with the computer architecture - sanflafls s L@ Waseab
Qb &BLOTEI )
.
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2GL - wpsomd samewpamps saflefGlomy

v

v

Also called assembly language e@wmi@ Gy Gomfl aeab

S P&SLILHERD S

Programs are written in mnemonics instructions - GlguiBlyeoaeir

GO Bepern Slaymissedsailed (mnemonics instructions)
T(LSLILIHSlTD 6T

Used to write programs for CPU — CPU @panen Gauiplysosamen
ApGISDGL LIWATLBHSSLILOS GG

Assembler is needed to execute programs — Gguiblyedsemen
BleopCoaupmieusin@ emmi@Csya (assembler) Seudlwiomeng)
Difficult to write / test programs comparing with 3GL/4GL - 3GL/4GL
Surapeupmier @UlEWlLTE OCFuiBlyeosmen epgised | Camsamen
Qeuiged sQqaIOTIg)

Tied up with the computer architecture - sanflafls s LemwilnE Waseaub
OBmssLomeng)

Mapping between assemble instructions and machine instructions is 1-1 —
oo Ceiidl sflypssosasen, Bupdly SflupssosEsED
B ullevrenr LLfled 1-1 Q@

4 (b)

-1
v

How many weights, n

‘A No

A 4

1<=n? End
'\ Yes

Enter weight in Kg, w

print('Charge=",100)

print('"Charge=",(w-5)*50+100)

print('Charge=',100+5*50+

6 marks
(or any
acceptable
logic)

Partial
marks given

-
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@ (o)
=l 5 marks
n=int(input('How many weights?:")) (or any
while(i<=n): acceptable
program)
w=int(input('"Enter weight in Kg:"))
if w<=5: Partial .
marks given
print('Charge=",100)
elif w<=10:
print('Charge=",(w-5)*50+100)
elif w>10:
print('Charge=',100+5*50+(w-10)*70)
=i+l
5)(a) Connectionless communication @ewemiLiy) SuquitenLwipm CBTLFuTLed
Host addressing / IP addressing 1P (pseuflufled f3mla]rks
X
Message forwarding  Gauigl’s uflwrppid
(5)(b)
Segment 1 Segment 2 Segment 3 8 marks
Source IP 192.168.1.3 192.168.1.3 192.168.1.3
address
Destination IP 10.1.1.3 10.1.1.3 10.1.1.3
address
Source MAC 00-50-56-8A-76- | 00-50-56-8A-76- 02-43-AF-89-56-2D
address 0D 0D
Destination 00-40-5F-8A-76- | 00-40-5F-8A-76- 1E-2A-11-A0-43-
MAC address 1E 1E Al
(3(©
UDP TCP 4 marks
- - - [2+2]
Connection-orientated service Connection-orientated service @enemriiL
Bmeanili SuqLILIeL WHD @nquineLwemrw Caemey
Caemau
Unacknowledged service Acknowledged service
Unreliable service Reliable service [pLOLISSS eTenLOUGNL LI
poLsgsaamwwipn Caameu Ggemeu
Best-effort delivery flmps @pwmdl | End-to-end data transfer / guaranteed
allBlGuimaid delivery 2 ggrours aflblGuwimasd
No flow control wumui&en Flow control unui&em &L @ELUUTE
SLELUUTH Bsdenev
No error detection or recovery Congestion avoidance capability
Note: Any suitable answers
\-
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https://en.wikipedia.org/wiki/Connectionless_communication

\-

(6)
address 15 marks
Author Publisher Customer
M [6 marks
for entities.
4 marks for
attributes &
primary
keys of
ISBN 2 entities
N
Book M 5 marks for
relationships
M 1 - &
@ ShoppingBasket cardinalities]
1
Warehouse
Note: ] o )
v Entity — Singular Noun Gl epevwomer wremeuiser ER eufliiLi gglenen
P ' i Gl epevorar QerTmEmen WTSSLd
Relationship — Verb LweLBSS cuamgsed CouewiPd. Gy mISleVLT | Ligmisar
v" Proper symbols SILILLIQMHHSTD SuDBleneiL! LIWTLIBESSGTLD.
v’ State if any assumptions made worflionrppb Geuigensg)
Final Marks Distributions
Part—1 2 x 50 = 100 marks
Part - I1IA 10 x 4 = 40 marks
Part - 1IB 15 x 4 = 60 marks
Total: 200 / 2 = 100 marks
foskoskekk
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